
ACTIVITY – 7  

Q-1. Convert into days : 

a. 6 weeks = 1 week = 7 days 

6 weeks = 7 x 6 = 42 days 

b. 9 weeks 3 days = 1 week = 7 days 

9weeks = 7 x 9 = 63 days 

9 weeks 3 days = 63 + 3 = 66 days 

c. 12 weeks 2 days = 1 week = 7 days 

12 weeks = 7 x 12 = 84 days 

12 weeks 2 days = 84 + 2 = 86 days 

d. 7 months = 1 month = 30 days 

7 months = 30 x 7 = 210 days 

Q-2. The school holidays are for 8 weeks 2 days . How long are the holidays 

?  

Sol : 8 weeks 2 days   

1 week = 7 days  

8 weeks = 8 x 7 = 56 days  

                                8 weeks 72 days = 56 + 2 = 58 days . 

 

 

 

 

 

 

 


